PHYS 606 — Spring 2015 — Homework Il = Solution
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Problem [2]
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Problem [3]
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Problem [4]

Choose a volume V that encloses part of the surface (the plane z=0). Concretely, let
us choose a cuboid with two sides of area A each that are parallel to the plane z=0.

Those sides shall be at symmetric around z=0 at coordinates z=-¢/2 and z=+¢/2. The
volume of the cuboid is then V=Ag and the surface z=0 divides it into to equal parts.
Now we integrate the continuity equation over the volume V and apply Gauss’ Law.
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